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Let us understand with some examples: 

Example 1: Convert 4 g 3 dg 2 cg into mg 

Solution: 1 g = 1000 mg (3 jumps of 10 each make it 1000) 

1 dg = 100 mg (2 jumps of 10 each make it 100) 

1 cg = 10 mg (1 jump of 10 makes it 10) 

So, 4 g = 4 × 1000 mg = 4000 mg 

3 dg = 3 × 100 mg = 300 mg 

2 cg = 2 × 10 mg = 20 mg 

On adding them all, you get: 

4 g 3 dg 2 cg = 4000 + 300 + 20 = 4320 mg 
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Example 2: 45 cg 312 mg into g 

Solution: 100 cg = 1 g; 1,000 mg = 1 g 

45 cg = 45/100 g; 312 mg = 312/1000 g 

45 cg 312 mg = 0.45 g + 0.312 g = 0.450 + 0.312 = 0.762 g 

Thus, 45 cg 312 mg = 0.762 g 

  




